2023 Street Construction Project "A" (#8371574)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 02/07/2023 10:00 AM CST

				Haas S	ons, Inc.	Steen Const	ruction Inc	Switlick	& Sons Inc.	Dorn	er Inc.	A-1 Exca	vating LLC
Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
item code	item Description	OOIIVI	_		treet from North			Offic Price	Extension	Offic Price	Extension	Offit Price	Extension
1 1001.0100.S	2" Polystyrene Insulation	Sq Ft	320	\$2.25	\$720.00	\$2.00	\$640.00	\$2.00	\$640.00	\$2.70	\$864.00	\$3.00	\$960.00
2 201.0220.S	Grubbing	id	277	\$12.00	\$3,324.00	\$30.00	\$8,310.00	\$40.00	\$11,080.00	\$12.70	\$3,517.90	\$20.00	\$5,540.00
3 204.0100	Removing Concrete Pavement	Sq Yd	110	\$10.00	\$1,100.00	\$8.00	\$880.00	\$5.00	\$550.00	\$7.30	\$803.00	\$12.00	\$1,320.00
4 204.0150	Removing Curb & Gutter	Ln Ft	940	\$2.00	\$1,880.00	\$3.00	\$2,820.00	\$3.00	\$2,820.00	\$3.00	\$2,820.00	\$3.00	\$2,820.00
5 204.0155.S	Removing Concrete Sidewalk	Sq Yd	675	\$4.00	\$2,700.00	\$5.00	\$3,375.00	\$3.00	\$2,025.00	\$3.10	\$2,092.50	\$6.00	\$4,050.00
6 204.0210.S	Removing Manholes	Ea	1	\$450.00	\$450.00	\$300.00	\$300.00	\$500.00	\$500.00	\$438.00	\$438.00	\$500.00	\$500.00
7 204.0220	Removing Inlets	Ea	1	\$450.00	\$450.00	\$200.00	\$200.00	\$400.00	\$400.00	\$272.00	\$272.00	\$500.00	\$500.00
8 204.0245.S	Removing Storm Sewer	Ln Ft	36	\$20.00	\$720.00	\$50.00	\$1,800.00	\$15.00	\$540.00	\$12.00	\$432.00	\$15.00	\$540.00
9 204.0500.S	Removing Sanitary Sewer	Ln Ft	375	\$1.00	\$375.00	\$5.00	\$1,875.00	\$8.00	\$3,000.00	\$3.00	\$1,125.00	\$5.00	\$1,875.00
10 204.0600.S	Removing Watermain	Ln Ft	500	\$10.00	\$5,000.00	\$3.00	\$1,500.00	\$12.00	\$6,000.00	\$9.00	\$4,500.00	\$5.00	\$2,500.00
11 204.0700.S	Removing Hydrants	Ea	1	\$450.00	\$450.00	\$800.00	\$800.00	\$500.00	\$500.00	\$397.00	\$397.00	\$400.00	\$400.00
12 204.0800.S	Abandon Sanitary Sewer, Storm Sewer and Watermain	Ln Ft	35	\$20.00	\$700.00	\$100.00	\$3,500.00	\$50.00	\$1,750.00	\$10.00	\$350.00	\$20.00	\$700.00
13 205.0100	Excavation Common	Cu Yd	980	\$13.65	\$13,377.00	\$13.00	\$12,740.00	\$15.00	\$14,700.00	\$19.20	\$18,816.00	\$20.00	\$19,600.00
14 205.1500.S	Excavation Below Subgrade	Cu Yd	500	\$1.00	\$500.00	\$39.00	\$19,500.00	\$32.00	\$16,000.00	\$10.00	\$5,000.00	\$12.00	\$6,000.00
15 209.0100.S	Granular Backfill	Cu Yd	250	\$17.55	\$4,387.50	\$19.00	\$4,750.00	\$20.00	\$5,000.00	\$10.00	\$2,500.00	\$16.00	\$4,000.00
16 305.0125.S	Base Aggregate Dense 1 1/4"	Cu Yd	420	\$22.00	\$9,240.00	\$28.00	\$11,760.00	\$28.00	\$11,760.00	\$29.30	\$12,306.00	\$44.00	\$18,480.00
17 311.0200.S	Breaker Run with Fines	Cu Yd	250	\$31.00	\$7,750.00	\$28.00	\$7,000.00	\$28.00	\$7,000.00	\$29.30	\$7,325.00	\$33.00	\$8,250.00
18 415.0070	Concrete Pavement 7-Inch	SY	100	\$86.00	\$8,600.00	\$92.00	\$9,200.00	\$100.00	\$10,000.00	\$90.80	\$9,080.00	\$131.00	\$13,100.00
19 415.0090	Concrete Pavement 9-Inch	SY	20	\$100.00	\$2,000.00	\$120.00	\$2,400.00	\$110.00	\$2,200.00	\$105.60	\$2,112.00	\$184.00	\$3,680.00
20 416.0610	Drilled Tie Bars	Ea	35	\$6.80	\$238.00	\$180.00	\$6,300.00	\$20.00	\$700.00	\$7.20	\$252.00	\$21.00	\$735.00
21 416.0620	Drilled Dowel Bars	Ea	5	\$16.00	\$80.00	\$25.00	\$125.00	\$25.00	\$125.00	\$16.90	\$84.50	\$26.00	\$130.00
22 455.0605	Tack Coat	Gal	49	\$7.27	\$356.23	\$6.75	\$330.75	\$10.00	\$490.00	\$7.60	\$372.40	\$7.50	\$367.50
23 460.5224.S	HMA Pavement 4 LT 58-28 S	Ton	160	\$96.01	\$15,361.60	\$103.00	\$16,480.00	\$96.00	\$15,360.00	\$88.50	\$14,160.00	\$92.00	\$14,720.00
24 460.5225.S	HMA Pavement 5 LT 58-28 S	Ton	160	\$102.65	\$16,424.00	\$104.00	\$16,640.00	\$101.00	\$16,160.00	\$95.40	\$15,264.00	\$96.00	\$15,360.00
25 520.8000	Concrete Collars for Pipe	Ea	2	\$650.00	\$1,300.00	\$1,200.00	\$2,400.00	\$400.00	\$800.00	\$589.00	\$1,178.00	\$1,000.00	\$2,000.00
26 601.0409	Concrete Curb and Gutter 30" Type A	Ln Ft	85	\$32.00	\$2,720.00	\$24.00	\$2,040.00	\$23.00	\$1,955.00	\$33.80	\$2,873.00	\$89.00	\$7,565.00
27 601.0411	Concrete Curb and Gutter 30" Type D	Ln Ft	950	\$15.15	\$14,392.50	\$22.00	\$20,900.00	\$23.00	\$21,850.00	\$16.00	\$15,200.00	\$28.00	\$26,600.00
28 602.0405.S	Concrete Sidewalk 4"	Sq Ft	4200	\$5.30	\$22,260.00	\$6.00	\$25,200.00	\$6.00	\$25,200.00	\$6.20	\$26,040.00	\$9.00	\$37,800.00
29 602.0415.S	Concrete Sidewalk 6"	Sq Ft	1900	\$7.00	\$13,300.00	\$7.25	\$13,775.00	\$8.00	\$15,200.00	\$8.00	\$15,200.00	\$10.00	\$19,000.00
30 602.0515	Curb Ramp Detectable Warning Field Natural Patina	Sq Ft	56	\$51.00	\$2,856.00	\$57.00	\$3,192.00	\$60.00	\$3,360.00	\$53.80	\$3,012.80	\$47.00	\$2,632.00
31 608.0412	Storm Sewer Pipe Reinforced Concrete Class IV 12"	Ln Ft	10	\$197.00	\$1,970.00	\$60.00	\$600.00	\$100.00	\$1,000.00	\$143.00	\$1,430.00	\$123.00	\$1,230.00
32 611.0535.S	Manhole Covers Type J-Special (Storm & Sanitary)	Ea	2	\$1,325.00	\$2,650.00	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$589.00	\$1,178.00	\$992.00	\$1,984.00
33 611.0624	Inlet Covers Type H	Ea	1	\$1,150.00	\$1,150.00	\$1,200.00	\$1,200.00	\$800.00	\$800.00	\$857.00	\$857.00	\$993.00	\$993.00
34 611.1230	Catch Basin 2x3-Ft	Ea	1	\$3,900.00	\$3,900.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,745.00	\$2,745.00	\$2,987.00	\$2,987.00
35 619.1000.S	Mobilization	LS	1	\$28,712.00	\$28,712.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$30,543.00	\$30,543.00	\$55,170.00	\$55,170.00
36 624.0100	Water	Mgal	15	\$40.00	\$600.00	\$50.00	\$750.00	\$10.00	\$150.00	\$50.00	\$750.00	\$15.00	\$225.00
37 624.0200.S	Water For Seeded Areas	Mgal	30	\$75.00	\$2,250.00	\$50.00	\$1,500.00	\$10.00	\$300.00	\$60.00	\$1,800.00	\$30.00	\$900.00
38 625.0600.S	Topsoil, Seed, Fertilizer and Mulch	Sq Yd	1040	\$9.00	\$9,360.00	\$15.00	\$15,600.00	\$7.00	\$7,280.00	\$10.20	\$10,608.00	\$6.00	\$6,240.00
39 628.7005	Inlet Protection Type A	Ea	1	\$175.00	\$175.00	\$200.00	\$200.00	\$60.00	\$60.00	\$215.00	\$215.00	\$100.00	\$100.00
40 628.7015	Inlet Protection Type C	Ea	2	\$100.00	\$200.00	\$200.00	\$400.00	\$60.00	\$120.00	\$90.00	\$180.00	\$30.00	\$60.00
41 628.7560	Tracking Pad	Ea	2	\$200.00	\$400.00	\$500.00	\$1,000.00	\$400.00	\$800.00	\$1,400.00	\$2,800.00	\$200.00	\$400.00

							Switlick 8	& Sons Inc.	Dorner Inc.		A-1 Excavating LLC			
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
42	632.1001.S	Tree Root Barrier 18"	Ln Ft	270	\$18.00	\$4,860.00	\$20.00	\$5 <i>,</i> 400.00	\$20.00	\$5,400.00	\$15.80	\$4,266.00	\$16.00	\$4,320.00
43	643.0100.S	Temporary Traffic Control	LS	1	\$863.00	\$863.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,564.00	\$2,564.00	\$4,429.00	\$4,429.00
44	646.6020	Marking Stop Line Epoxy 12"	Ln Ft	14	\$56.95	\$797.30	\$32.00	\$448.00	\$100.00	\$1,400.00	\$60.10	\$841.40	\$63.00	\$882.00
45	646.7420	Marking Crosswalk Epoxy Transverse Line 6"	Ln Ft	75	\$32.50	\$2,437.50	\$32.00	\$2,400.00	\$50.00	\$3,750.00	\$34.30	\$2,572.50	\$36.00	\$2,700.00
46	690.0250	Sawing Concrete	Ln Ft	150	\$2.25	\$337.50	\$10.00	\$1,500.00	\$5.00	\$750.00	\$3.00	\$450.00	\$5.00	\$750.00
47	800.0108.S	Sanitary Sewer PVC-SDR 35 8"	Ln Ft	475	\$75.92	\$36,062.00	\$55.00	\$26,125.00	\$48.00	\$22,800.00	\$73.00	\$34,675.00	\$55.00	\$26,125.00
48	800.0200.S	Sanitary Sewer Wyes PVC	Ea	18	\$1.00	\$18.00	\$150.00	\$2,700.00	\$150.00	\$2,700.00	\$234.00	\$4,212.00	\$500.00	\$9,000.00
49	801.0104.S	Sanitary Sewer Manholes 4' Diameter	Ea	2	\$4,000.00	\$8,000.00	\$7,000.00	\$14,000.00	\$400.00	\$800.00	\$6,080.00	\$12,160.00	\$4,809.00	\$9,618.00
50	802.0100.S	Connect Sanitary Sewer Lateral	Ln Ft	600	\$15.00	\$9,000.00	\$48.00	\$28,800.00	\$48.00	\$28,800.00	\$74.00	\$44,400.00	\$55.00	\$33,000.00
51	900.0104.S	4" DI Watermain	Ln Ft	50	\$74.88	\$3,744.00	\$100.00	\$5,000.00	\$52.00	\$2,600.00	\$106.00	\$5,300.00	\$99.00	\$4,950.00
52	900.0106.S	6" DI Watermain	Ln Ft	50	\$40.00	\$2,000.00	\$90.00	\$4,500.00	\$63.00	\$3,150.00	\$73.00	\$3,650.00	\$66.00	\$3,300.00
53	900.0108.S	8" DI Watermain	Ln Ft	490	\$40.00	\$19,600.00	\$45.00	\$22,050.00	\$63.00	\$30,870.00	\$51.00	\$24,990.00	\$44.00	\$21,560.00
54	901.0804.S	8"x8"x4" Tee	Ea	1	\$800.00	\$800.00	\$400.00	\$400.00	\$800.00	\$800.00	\$185.00	\$185.00	\$739.00	\$739.00
55	901.0806.S	8"x8"x6" Tee	Ea	1	\$350.00	\$350.00	\$400.00	\$400.00	\$800.00	\$800.00	\$185.00	\$185.00	\$266.00	\$266.00
56		6" - 45 Degree Bend	Ea	4	\$250.00	\$1,000.00	\$350.00	\$1,400.00	\$800.00	\$3,200.00	\$106.00	\$424.00	\$146.00	\$584.00
57	904.0806.S	8"x6" Reducer	Ea	2	\$350.00	\$700.00	\$350.00	\$700.00	\$800.00	\$1,600.00	\$106.00	\$212.00	\$158.00	\$316.00
58	905.0004.S	4" Valve & Valve Box	Ea	1	\$2,050.00	\$2,050.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$1,809.00	\$1,809.00	\$2,121.00	\$2,121.00
59	905.0006.S	6" Valve & Valve Box	Ea	1	\$700.00	\$700.00	\$600.00	\$600.00	\$2,500.00	\$2,500.00	\$159.00	\$159.00	\$400.00	\$400.00
60	905.0008.S	8" Valve & Valve Box	Ea	2	\$700.00	\$1,400.00	\$600.00	\$1,200.00	\$3,000.00	\$6,000.00	\$1,668.00	\$3,336.00	\$500.00	\$1,000.00
61	906.0100.S	Standard Hydrant	Ea	1	\$850.00	\$850.00	\$1,400.00	\$1,400.00	\$6,000.00	\$6,000.00	\$891.00	\$891.00	\$1,000.00	\$1,000.00
62	907.0100.S	Temporary Water Service	LS	1	\$7,700.00	\$7,700.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$7,433.00	\$7,433.00	\$5,000.00	\$5,000.00
63	908.0100.S	Connect Water Service	Ln Ft	300	\$42.88	\$12,864.00	\$48.00	\$14,400.00	\$48.00	\$14,400.00	\$59.00	\$17,700.00	\$50.00	\$15,000.00
			То	tal Part I		\$320,512.13		\$397,905.75		\$398,095.00		\$393,908.00		\$439,073.50
						rietta Street fror				<u> </u>				
64		2" Polystyrene Insulation	Sq Ft	640	\$2.25	\$1,440.00	\$2.00	¢1 200 00	\$2.00	\$1,280.00	ć2 7 0	¢1 720 00		
65	201.0120.S							\$1,280.00	-		\$2.70	\$1,728.00	\$3.00	\$1,920.00
66	201.0220.S	Clearing	id	200	\$32.00	\$6,400.00	\$15.00	\$3,000.00	\$40.00	\$8,000.00	\$33.80	\$6,760.00	\$20.00	\$4,000.00
67		Grubbing	id	606	\$12.00	\$6,400.00 \$7,272.00	\$15.00 \$20.00	\$3,000.00 \$12,120.00	\$40.00 \$10.00	\$8,000.00 \$6,060.00	\$33.80 \$12.70	\$6,760.00 \$7,696.20	\$20.00 \$20.00	\$4,000.00 \$12,120.00
07		Grubbing Removing Curb & Gutter	id Ln Ft		\$12.00 \$2.00	\$6,400.00 \$7,272.00 \$6,700.00	\$15.00 \$20.00 \$2.00	\$3,000.00 \$12,120.00 \$6,700.00	\$40.00	\$8,000.00 \$6,060.00 \$10,050.00	\$33.80 \$12.70 \$3.00	\$6,760.00	\$20.00	\$4,000.00 \$12,120.00 \$10,050.00
		Grubbing	id	606	\$12.00	\$6,400.00 \$7,272.00	\$15.00 \$20.00	\$3,000.00 \$12,120.00	\$40.00 \$10.00	\$8,000.00 \$6,060.00	\$33.80 \$12.70	\$6,760.00 \$7,696.20	\$20.00 \$20.00	\$4,000.00 \$12,120.00
68 69	204.0155.S 204.0210.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes	id Ln Ft	606 3350	\$12.00 \$2.00 \$4.00 \$450.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00
68 69 70	204.0155.S 204.0210.S 204.0220	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets	id Ln Ft Sq Yd Ea Ea	606 3350 1500 15	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00
68 69 70 71	204.0155.S 204.0210.S 204.0220 204.0245.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer	id Ln Ft Sq Yd Ea Ea Ln Ft	606 3350 1500 15 12 1225	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00
68 69 70 71	204.0155.S 204.0210.S 204.0220	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets	id Ln Ft Sq Yd Ea Ea	606 3350 1500 15	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00
68 69 70 71 72	204.0155.S 204.0210.S 204.0220 204.0245.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft	606 3350 1500 15 12 1225	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00
68 69 70 71 72 73 74	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Ea	606 3350 1500 15 12 1225 1825 1975	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$800.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00
68 69 70 71 72 73 74 75	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd	606 3350 1500 15 12 1225 1825 1975 2 3069	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$33,759.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00 \$400.00 \$18.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00
68 69 70 71 72 73 74 75 76	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd	606 3350 1500 15 12 1225 1825 1975 2 3069 1250	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$33,759.00 \$48,750.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$32.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00
68 69 70 71 72 73 74 75 76	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$33,759.00 \$48,750.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$400.00 \$18.00 \$12.00 \$16.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00
68 69 70 71 72 73 74 75 76 77	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4"	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$10.00 \$12.06 \$6.00 \$18.55 \$21.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$48,750.00 \$4,750.00 \$47,180.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$5,000.00 \$47,180.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$49,370.50	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00 \$400.00 \$18.00 \$16.00 \$40.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00
68 69 70 71 72 73 74 75 76 77 78	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$33,759.00 \$48,750.00 \$47,180.00 \$28,000.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$5,000.00 \$47,180.00 \$28,000.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$49,370.50 \$29,300.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$400.00 \$12.00 \$16.00 \$40.00 \$32.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00 \$32,000.00
68 69 70 71 72 73 74 75 76 77 78 79	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$2.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$33,759.00 \$48,750.00 \$47,180.00 \$28,000.00 \$1,218.75	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$47,180.00 \$28,000.00 \$1,950.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$49,370.50 \$29,300.00 \$936.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$400.00 \$18.00 \$16.00 \$40.00 \$40.00 \$40.00 \$40.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00 \$32,000.00 \$916.50
68 69 70 71 72 73 74 75 76 77 78 79 80 81	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal Ton	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$10.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55 \$91.31	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25 \$59,351.50	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00 \$28.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$48,750.00 \$47,180.00 \$28,000.00 \$1,218.75 \$66,300.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00 \$94.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$5,000.00 \$47,180.00 \$28,000.00 \$1,950.00 \$61,100.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80 \$86.10	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$29,300.00 \$936.00 \$55,965.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$4.00 \$18.00 \$12.00 \$16.00 \$40.00 \$40.00 \$40.00 \$32.00 \$4.70 \$88.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00 \$67,400.00 \$916.50 \$57,200.00
68 69 70 71 72 73 74 75 76 77 78 79 80 81 82	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Ton Ton	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195 650 620	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55 \$91.31 \$98.76	\$6,400.00 \$7,272.00 \$6,700.00 \$6,700.00 \$6,750.00 \$5,400.00 \$24,500.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25 \$59,351.50 \$61,231.20	\$15.00 \$20.00 \$20.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00 \$28.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$48,750.00 \$47,180.00 \$28,000.00 \$1,218.75 \$66,300.00 \$63,860.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00 \$94.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$47,180.00 \$28,000.00 \$1,950.00 \$61,100.00 \$62,000.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80 \$86.10 \$93.90	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$49,370.50 \$29,300.00 \$55,965.00 \$58,218.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$4.00 \$18.00 \$12.00 \$16.00 \$40.00 \$40.00 \$32.00 \$4.70 \$88.00 \$94.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00 \$67,400.00 \$32,000.00 \$57,200.00 \$57,200.00 \$58,280.00
68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S 465.0120	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S Asphaltic Surface Driveways	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal Ton Ton	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55 \$91.31 \$98.76 \$185.28	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25 \$59,351.50 \$61,231.20 \$1,852.80	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$800.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00 \$28.00 \$28.00 \$36.25	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$4,750.00 \$4,750.00 \$47,180.00 \$28,000.00 \$1,218.75 \$66,300.00 \$3,650.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00 \$94.00 \$100.00 \$250.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$47,180.00 \$28,000.00 \$1,950.00 \$61,100.00 \$2,500.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80 \$86.10 \$93.90 \$193.70	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$49,370.50 \$29,300.00 \$55,965.00 \$58,218.00 \$1,937.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00 \$400.00 \$18.00 \$16.00 \$40.00 \$40.00 \$40.00 \$32.00 \$4.70 \$88.00 \$94.00 \$216.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$15,000.00 \$4,000.00 \$67,400.00 \$32,000.00 \$57,200.00 \$58,280.00 \$58,280.00
68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83 84	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S 465.0120 520.8000	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S Asphaltic Surface Driveways Concrete Collars for Pipe	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal Ton Ton Ton Ea	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195 650 620 10	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$10.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55 \$91.31 \$98.76 \$185.28 \$650.00	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25 \$59,351.50 \$61,231.20 \$1,852.80 \$2,600.00	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$2.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00 \$28.00 \$102.00 \$103.00 \$365.00	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$48,750.00 \$47,180.00 \$28,000.00 \$1,218.75 \$66,300.00 \$3,650.00 \$4,800.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00 \$94.00 \$100.00 \$400.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$47,180.00 \$28,000.00 \$1,950.00 \$61,100.00 \$2,500.00 \$1,600.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80 \$86.10 \$93.90 \$193.70 \$1,202.00	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$29,300.00 \$29,300.00 \$55,965.00 \$58,218.00 \$1,937.00 \$4,808.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$4.00 \$4.00 \$12.00 \$16.00 \$40.00 \$32.00 \$4.70 \$88.00 \$94.00 \$216.00 \$1,000.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$55,242.00 \$15,000.00 \$4,000.00 \$67,400.00 \$32,000.00 \$57,200.00 \$58,280.00 \$2,160.00 \$4,000.00
68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83 84	204.0155.S 204.0210.S 204.0220 204.0245.S 204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S 465.0120	Grubbing Removing Curb & Gutter Removing Concrete Sidewalk Removing Manholes Removing Inlets Removing Storm Sewer Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S Asphaltic Surface Driveways	id Ln Ft Sq Yd Ea Ea Ln Ft Ln Ft Ln Ft Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal Ton Ton	606 3350 1500 15 12 1225 1825 1975 2 3069 1250 250 1685 1000 195 650 620	\$12.00 \$2.00 \$4.00 \$450.00 \$450.00 \$20.00 \$1.00 \$10.00 \$450.00 \$12.06 \$6.00 \$18.55 \$21.00 \$32.00 \$4.55 \$91.31 \$98.76 \$185.28	\$6,400.00 \$7,272.00 \$6,700.00 \$6,000.00 \$6,750.00 \$5,400.00 \$1,825.00 \$1,825.00 \$19,750.00 \$900.00 \$37,012.14 \$7,500.00 \$4,637.50 \$35,385.00 \$32,000.00 \$887.25 \$59,351.50 \$61,231.20 \$1,852.80	\$15.00 \$20.00 \$2.00 \$5.00 \$400.00 \$200.00 \$8.00 \$2.00 \$800.00 \$11.00 \$39.00 \$19.00 \$28.00 \$28.00 \$28.00 \$28.00 \$28.00 \$36.25	\$3,000.00 \$12,120.00 \$6,700.00 \$7,500.00 \$6,000.00 \$2,400.00 \$9,800.00 \$3,650.00 \$3,950.00 \$1,600.00 \$4,750.00 \$4,750.00 \$47,180.00 \$28,000.00 \$1,218.75 \$66,300.00 \$3,650.00	\$40.00 \$10.00 \$3.00 \$3.00 \$500.00 \$400.00 \$15.00 \$8.00 \$12.00 \$500.00 \$15.00 \$20.00 \$28.00 \$28.00 \$10.00 \$94.00 \$100.00 \$250.00	\$8,000.00 \$6,060.00 \$10,050.00 \$4,500.00 \$7,500.00 \$4,800.00 \$18,375.00 \$14,600.00 \$23,700.00 \$1,000.00 \$46,035.00 \$40,000.00 \$47,180.00 \$28,000.00 \$1,950.00 \$61,100.00 \$2,500.00	\$33.80 \$12.70 \$3.00 \$3.90 \$438.00 \$272.00 \$17.00 \$3.00 \$6.00 \$397.00 \$19.20 \$10.00 \$29.30 \$29.30 \$4.80 \$86.10 \$93.90 \$193.70	\$6,760.00 \$7,696.20 \$10,050.00 \$5,850.00 \$6,570.00 \$3,264.00 \$20,825.00 \$5,475.00 \$11,850.00 \$794.00 \$58,924.80 \$12,500.00 \$2,500.00 \$49,370.50 \$29,300.00 \$55,965.00 \$58,218.00 \$1,937.00	\$20.00 \$20.00 \$3.00 \$6.00 \$600.00 \$300.00 \$15.00 \$3.00 \$4.00 \$400.00 \$18.00 \$16.00 \$40.00 \$40.00 \$40.00 \$32.00 \$4.70 \$88.00 \$94.00 \$216.00	\$4,000.00 \$12,120.00 \$10,050.00 \$9,000.00 \$9,000.00 \$3,600.00 \$18,375.00 \$5,475.00 \$7,900.00 \$800.00 \$15,000.00 \$4,000.00 \$67,400.00 \$32,000.00 \$57,200.00 \$58,280.00 \$58,280.00

					Haas So	ons, Inc.	Steen Const	ruction, Inc.	Switlick 8	& Sons Inc.	Dorn	er Inc.	A-1 Exca	vating LLC
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
87 6	02.0415.S	Concrete Sidewalk 6"	Sq Ft	9500	\$6.65	\$63,175.00	\$7.00	\$66,500.00	\$8.00	\$76,000.00	\$7.60	\$72,200.00	\$9.50	\$90,250.00
88 6	02.0515	Curb Ramp Detectable Warning Field Natural Patina	Sq Ft	140	\$51.00	\$7,140.00	\$56.00	\$7,840.00	\$50.00	\$7,000.00	\$53.80	\$7,532.00	\$47.00	\$6,580.00
89 6	08.0412	Storm Sewer Pipe Reinforced Concrete Class IV 12"	Ln Ft	350	\$51.25	\$17,937.50	\$50.00	\$17,500.00	\$52.00	\$18,200.00	\$77.00	\$26,950.00	\$66.00	\$23,100.00
90 6	08.0415	Storm Sewer Pipe Reinforced Concrete Class IV 15"	Ln Ft	925	\$55.75	\$51,568.75	\$55.00	\$50,875.00	\$58.00	\$53,650.00	\$71.00	\$65,675.00	\$63.00	\$58,275.00
91 6	08.0442	Storm Sewer Pipe Reinforced Concrete Class IV 42"	Ln Ft	45	\$192.00	\$8,640.00	\$350.00	\$15,750.00	\$150.00	\$6,750.00	\$256.00	\$11,520.00	\$333.00	\$14,985.00
92 6	608.6004.S	Storm Sewer Pipe Composite 4"	Ln Ft	30	\$48.00	\$1,440.00	\$45.00	\$1,350.00	\$30.00	\$900.00	\$49.00	\$1,470.00	\$68.00	\$2,040.00
93 6	08.6008.S	Storm Sewer Pipe Composite 8"	Ln Ft	50	\$62.00	\$3,100.00	\$45.00	\$2,250.00	\$40.00	\$2,000.00	\$69.00	\$3,450.00	\$77.00	\$3,850.00
94 6	511.0624	Inlet Covers Type H	Ea	15	\$1,500.00	\$22,500.00	\$100.00	\$1,500.00	\$800.00	\$12,000.00	\$857.00	\$12,855.00	\$993.00	\$14,895.00
95 6	511.1230	Catch Basin 2x3-Ft	Ea	15	\$2,100.00	\$31,500.00	\$2,000.00	\$30,000.00	\$2,200.00	\$33,000.00	\$2,827.00	\$42,405.00	\$2,430.00	\$36,450.00
96	511.2004	Manholes 4-Ft Diameter	Ea	4	\$2,750.00	\$11,000.00	\$9,000.00	\$36,000.00	\$2,500.00	\$10,000.00	\$3,989.00	\$15,956.00	\$3,582.00	\$14,328.00
97 6	11.2005	Manholes 5-Ft Diameter	Ea	1	\$5,250.00	\$5,250.00	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$8,106.00	\$8,106.00	\$6,939.00	\$6,939.00
98 6	11.2006	Manholes 6-Ft Diameter	Ea	1	\$6,725.00	\$6,725.00	\$12,000.00	\$12,000.00	\$4,500.00	\$4,500.00	\$10,188.00	\$10,188.00	\$8,826.00	\$8,826.00
99 6	11.2007	Manholes 7-Ft Diameter	Ea	1	\$11,150.00	\$11,150.00	\$16,000.00	\$16,000.00	\$6,000.00	\$6,000.00	\$16,567.00	\$16,567.00	\$15,410.00	\$15,410.00
100 6	11.0535.S	Manhole Covers Type J-Special (Storm & Sanitary)	Ea	14	\$1,375.00	\$19,250.00	\$1,000.00	\$14,000.00	\$800.00	\$11,200.00	\$578.00	\$8,092.00	\$992.00	\$13,888.00
101 6	11.8115	Adjusting Inlet Covers	Ea	4	\$900.00	\$3,600.00	\$200.00	\$800.00	\$400.00	\$1,600.00	\$510.00	\$2,040.00	\$600.00	\$2,400.00
102 6	519.1000.S	Mobilization	LS	1	\$27,500.00	\$27,500.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$59,590.00	\$59,590.00	\$60,270.00	\$60,270.00
103 6	24.0100	Water	Mgal	40	\$40.00	\$1,600.00	\$50.00	\$2,000.00	\$10.00	\$400.00	\$35.00	\$1,400.00	\$10.00	\$400.00
104 6	524.0200.S	Water For Seeded Areas	Mgal	50	\$75.00	\$3,750.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$60.00	\$3,000.00	\$30.00	\$1,500.00
105 6	525.0600.S	Topsoil, Seed and Fertilizer	Sq Yd	2960	\$1.50	\$4,440.00	\$9.00	\$26,640.00	\$8.00	\$23,680.00	\$9.10	\$26,936.00	\$6.00	\$17,760.00
106	527.0200.S	Mulching	Sq Yd	2550	\$1.00	\$2,550.00	\$2.00	\$5,100.00	\$1.00	\$2,550.00	\$1.00	\$2,550.00	\$0.50	\$1,275.00
107 6	28.2008	Erosion Mat Urban Class I Type B	Sq Yd	400	\$3.50	\$1,400.00	\$3.00	\$1,200.00	\$4.00	\$1,600.00	\$3.50	\$1,400.00	\$2.00	\$800.00
108 6	28.7005	Inlet Protection Type A	Ea	15	\$175.00	\$2,625.00	\$100.00	\$1,500.00	\$60.00	\$900.00	\$165.00	\$2,475.00	\$80.00	\$1,200.00
109 6	28.7015	Inlet Protection Type C	Ea	31	\$100.00	\$3,100.00	\$50.00	\$1,550.00	\$60.00	\$1,860.00	\$65.00	\$2,015.00	\$30.00	\$930.00
110	28.7560	Tracking Pad	Ea	2	\$200.00	\$400.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$1,400.00	\$2,800.00	\$300.00	\$600.00
111 6	32.1001.S	Tree Root Barrier 18"	Ln Ft	510	\$18.00	\$9,180.00	\$15.00	\$7,650.00	\$20.00	\$10,200.00	\$15.80	\$8,058.00	\$16.00	\$8,160.00
112	43.0100.S	Temporary Traffic Control	LS	1	\$4,831.00	\$4,831.00	\$17,000.00	\$17,000.00	\$13,000.00	\$13,000.00	\$5,100.00	\$5,100.00	\$9,331.00	\$9,331.00
	45.2.2.2	Geotextile, Type SAS	Sq Yd	825	\$2.50	\$2,062.50	\$3.00	\$2,475.00	\$3.00	\$2,475.00	\$2.50	\$2,062.50	\$2.00	\$1,650.00
114	90.0150	Sawing Asphalt	Ln Ft	400	\$1.29	\$516.00	\$6.00	\$2,400.00	\$3.00	\$1,200.00	\$2.50	\$1,000.00	\$3.00	\$1,200.00
115	90.0250	Sawing Concrete	Ln Ft	100	\$2.25	\$225.00	\$15.00	\$1,500.00	\$6.00	\$600.00	\$5.00	\$500.00	\$5.00	\$500.00
116 8	00.0108.S	Sanitary Sewer PVC-SDR 35 8"	Ln Ft	1725	\$47.00	\$81,075.00	\$55.00	\$94,875.00	\$52.00	\$89,700.00	\$72.00	\$124,200.00	\$72.00	\$124,200.00
117 8	00.0110.S	Sanitary Sewer PVC-SDR 35 10"	Ln Ft	40	\$80.00	\$3,200.00	\$60.00	\$2,400.00	\$80.00	\$3,200.00	\$110.00	\$4,400.00	\$134.00	\$5,360.00
118 8	00.0115.S	Sanitary Sewer PVC-SDR 35 15"	Ln Ft	70	\$110.00	\$7,700.00	\$110.00	\$7,700.00	\$85.00	\$5,950.00	\$141.00	\$9,870.00	\$212.00	\$14,840.00
119 8	300.0200.S	Sanitary Sewer Wyes PVC	Ea	51	\$225.00	\$11,475.00	\$150.00	\$7,650.00	\$150.00	\$7,650.00	\$237.00	\$12,087.00	\$300.00	\$15,300.00
120 8	01.0104.S	Sanitary Sewer Manholes 4' Diameter	Ea	7	\$4,200.00	\$29,400.00	\$4,500.00	\$31,500.00	\$4,000.00	\$28,000.00	\$6,227.00	\$43,589.00	\$4,998.00	\$34,986.00
	02.0100.S	Connect Sanitary Sewer Lateral	Ln Ft	1300	\$52.75	\$68,575.00	\$54.00	\$70,200.00	\$52.00	\$67,600.00	\$63.00	\$81,900.00	\$47.00	\$61,100.00
	00.0106.S	6" DI Watermain	Ln Ft	175	\$40.00	\$7,000.00	\$55.00	\$9,625.00	\$54.00	\$9,450.00	\$66.00	\$11,550.00	\$50.00	\$8,750.00
123	00.0108.S	8" DI Watermain	Ln Ft	1935	\$34.00	\$65,790.00	\$45.00	\$87,075.00	\$64.00	\$123,840.00	\$51.00	\$98,685.00	\$45.00	\$87,075.00
124	00.0110.S	10" DI Watermain	Ln Ft	5	\$200.00	\$1,000.00	\$55.00	\$275.00	\$150.00	\$750.00	\$201.00	\$1,005.00	\$167.00	\$835.00
125	01.0806.S	8"x8"x6" Tee	Ea	5	\$450.00	\$2,250.00	\$300.00	\$1,500.00	\$800.00	\$4,000.00	\$185.00	\$925.00	\$266.00	\$1,330.00
	01.0808.S	8"x8"x8" Tee	Ea	2	\$450.00	\$900.00	\$300.00	\$600.00	\$800.00	\$1,600.00	\$212.00	\$424.00	\$308.00	\$616.00
127	01.1008.S	10"x10"x8" Tee	Ea	1	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$238.00	\$238.00	\$365.00	\$365.00
128	02.0808.S	8"x8" Cross	Ea	1	\$450.00	\$450.00	\$400.00	\$400.00	\$800.00	\$800.00	\$264.00	\$264.00	\$365.00	\$365.00
129	03.0645.S	6" - 45 Degree Bend	Ea	2	\$350.00	\$700.00	\$300.00	\$600.00	\$800.00	\$1,600.00	\$106.00	\$212.00	\$146.00	\$292.00
130	03.0845.S	8" - 45 Degree Bend	Ea	4	\$350.00	\$1,400.00	\$300.00	\$1,200.00	\$800.00	\$3,200.00	\$106.00	\$424.00	\$188.00	\$752.00
131	04.0806.S	8"x6" Reducer	Ea	3	\$250.00	\$750.00	\$300.00	\$900.00	\$800.00	\$2,400.00	\$106.00	\$318.00	\$158.00	\$474.00
132	05.0006.S	6" Valve & Valve Box	Ea	5	\$850.00	\$4,250.00	\$450.00	\$2,250.00	\$2,200.00	\$11,000.00	\$159.00	\$795.00	\$400.00	\$2,000.00
133	05.0008.S	8" Valve & Valve Box	Ea	11	\$850.00	\$9,350.00	\$600.00	\$6,600.00	\$3,000.00	\$33,000.00	\$185.00	\$2,035.00	\$500.00	\$5,500.00

					Haas Sons, Inc.		Steen Construction, Inc.		Switlick & Sons Inc.		Dorner Inc.		A-1 Excavating LLC	
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
134	906.0100.S	Standard Hydrant	Ea	5	\$750.00	\$3,750.00	\$800.00	\$4,000.00	\$6,000.00	\$30,000.00	\$2,345.00	\$11,725.00	\$1,000.00	\$5,000.00
135	907.0100.S	Temporary Water Service	LS	1	\$27,300.00	\$27,300.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$24,312.00	\$24,312.00	\$16,000.00	\$16,000.00
136	908.0100.S	Connect Water Service	Ln Ft	1225	\$38.00	\$46,550.00	\$45.00	\$55,125.00	\$48.00	\$58,800.00	\$57.00	\$69,825.00	\$40.00	\$49,000.00
			Tot	al Part II		\$1,112,545.14		\$1,231,722.75		\$1,347,635.00		\$1,366,917.00		\$1,357,920.50
			Base B	id Total:		\$1,433,057.27		\$1,629,628.50		\$1,745,730.00		\$1,760,825.00		\$1,796,994.00

2023 Street Construction Project "A" (#8371574)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 02/07/2023 10:00 AM CST

							Merrill Gravel	& Construction
					Soper Sev	ver & Water		Co
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension
	•	Part I - Grant Street from No	rth 6th St	reet to N	orth 7th Stree	t		
1	1001.0100.S	2" Polystyrene Insulation	Sq Ft	320	\$4.07	\$1,302.40	\$3.98	\$1,273.60
2	201.0220.S	Grubbing	id	277	\$8.00	\$2,216.00	\$26.50	\$7,340.50
3	204.0100	Removing Concrete Pavement	Sq Yd	110	\$8.64	\$950.40	\$9.20	\$1,012.00
4	204.0150	Removing Curb & Gutter	Ln Ft	940	\$3.07	\$2,885.80	\$3.59	\$3,374.60
5	204.0155.S	Removing Concrete Sidewalk	Sq Yd	675	\$6.56	\$4,428.00	\$6.10	\$4,117.50
6	204.0210.S	Removing Manholes	Ea	1	\$759.11	\$759.11	\$450.00	\$450.00
7	204.0220	Removing Inlets	Ea	1	\$569.08	\$569.08	\$350.00	\$350.00
8	204.0245.S	Removing Storm Sewer	Ln Ft	36	\$20.11	\$723.96	\$14.00	\$504.00
9	204.0500.S	Removing Sanitary Sewer	Ln Ft	375	\$2.94	\$1,102.50	\$8.00	\$3,000.00
10	204.0600.S	Removing Watermain	Ln Ft	500	\$13.97	\$6,985.00	\$10.00	\$5,000.00
11	204.0700.S	Removing Hydrants	Ea	1	\$586.73	\$586.73	\$580.00	\$580.00
12	204.0800.S	Abandon Sanitary Sewer, Storm Sewer and Watermain	Ln Ft	35	\$40.91	\$1,431.85	\$63.29	\$2,215.15
13	205.0100	Excavation Common	Cu Yd	980	\$26.52	\$25,989.60	\$20.00	\$19,600.00
14	205.1500.S	Excavation Below Subgrade	Cu Yd	500	\$20.32	\$10,160.00	\$23.17	\$11,585.00
15	209.0100.S	Granular Backfill	Cu Yd	250	\$21.63	\$5,407.50	\$21.17	\$5,292.50
16	305.0125.S	Base Aggregate Dense 1 1/4"	Cu Yd	420	\$23.94	\$10,054.80	\$39.23	\$16,476.60
17	311.0200.S	Breaker Run with Fines	Cu Yd	250	\$35.95	\$8,987.50	\$28.95	\$7,237.50
18	415.0070	Concrete Pavement 7-Inch	SY	100	\$86.00	\$8,600.00	\$125.00	\$12,500.00
19	415.0090	Concrete Pavement 9-Inch	SY	20	\$100.00	\$2,000.00	\$175.00	\$3,500.00
20	416.0610	Drilled Tie Bars	Ea	35	\$6.80	\$238.00	\$20.00	\$700.00
21	416.0620	Drilled Dowel Bars	Ea	5	\$16.00	\$80.00	\$25.00	\$125.00
22	455.0605	Tack Coat	Gal	49	\$7.20	\$352.80	\$7.20	\$352.80
23	460.5224.S	HMA Pavement 4 LT 58-28 S	Ton	160	\$83.80	\$13,408.00	\$86.34	\$13,814.40
24	460.5225.S	HMA Pavement 5 LT 58-28 S	Ton	160	\$90.38	\$14,460.80	\$90.88	\$14,540.80
25	520.8000	Concrete Collars for Pipe	Ea	2	\$800.00	\$1,600.00	\$300.00	\$600.00
26	601.0409	Concrete Curb and Gutter 30" Type A	Ln Ft	85	\$49.93	\$4,244.05	\$86.50	\$7,352.50
27	601.0411	Concrete Curb and Gutter 30" Type D	Ln Ft	950	\$33.22	\$31,559.00	\$28.15	\$26,742.50
28	602.0405.S	Concrete Sidewalk 4"	Sq Ft	4200	\$5.30	\$22,260.00	\$8.60	\$36,120.00
29	602.0415.S	Concrete Sidewalk 6"	Sq Ft	1900	\$7.00	\$13,300.00	\$9.40	\$17,860.00
30	602.0515	Curb Ramp Detectable Warning Field Natural Patina	Sq Ft	56	\$51.00	\$2,856.00	\$45.00	\$2,520.00
31	608.0412	Storm Sewer Pipe Reinforced Concrete Class IV 12"	Ln Ft	10	\$93.72	\$937.20	\$297.00	\$2,970.00
32	611.0535.S	Manhole Covers Type J-Special (Storm & Sanitary)	Ea	2	\$813.00	\$1,626.00	\$1,171.00	\$2,342.00
33	611.0624	Inlet Covers Type H	Ea	1	\$650.00	\$650.00	\$1,195.00	\$1,195.00
34	611.1230	Catch Basin 2x3-Ft	Ea	1	\$2,187.64	\$2,187.64	\$2,579.00	\$2,579.00
35	619.1000.S	Mobilization	LS	1	\$56,341.47	\$56,341.47	\$32,592.00	\$32,592.00
36	624.0100	Water	Mgal	15	\$119.73	\$1,795.95	\$40.00	\$600.00
37	624.0200.S	Water For Seeded Areas	Mgal	30	\$40.00	\$1,200.00	\$75.00	\$2,250.00
38	625.0600.S	Topsoil, Seed, Fertilizer and Mulch	Sq Yd	1040	\$12.14	\$12,625.60	\$10.96	\$11,398.40
39	628.7005	Inlet Protection Type A	Ea	1	\$225.00	\$225.00	\$175.00	\$175.00
40	628.7015	Inlet Protection Type C	Ea	2	\$57.50	\$115.00	\$100.00	\$200.00
41	628.7560	Tracking Pad	Ea	2	\$1,749.43	\$3,498.86	\$970.00	\$1,940.00

					Soper Sew	er & Water		& Construction
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension
42	632.1001.S	Tree Root Barrier 18"	Ln Ft	270	\$28.55	\$7,708.50	\$18.00	\$4,860.00
43	643.0100.S	Temporary Traffic Control	LS	1	\$863.00	\$863.00	\$2,500.00	\$2,500.00
44	646.6020	Marking Stop Line Epoxy 12"	Ln Ft	14	\$56.95	\$797.30	\$30.00	\$420.00
45	646.7420	Marking Crosswalk Epoxy Transverse Line 6"	Ln Ft	75	\$32.50	\$2,437.50	\$27.00	\$2,025.00
46	690.0250	Sawing Concrete	Ln Ft	150	\$2.75	\$412.50	\$6.00	\$900.00
47	800.0108.S	Sanitary Sewer PVC-SDR 35 8"	Ln Ft	475	\$65.44	\$31,084.00	\$79.49	\$37,757.75
48	800.0200.S	Sanitary Sewer Wyes PVC	Ea	18	\$213.42	\$3,841.56	\$1,142.00	\$20,556.00
49	801.0104.S	Sanitary Sewer Manholes 4' Diameter	Ea	2	\$5,105.10	\$10,210.20	\$4,571.50	\$9,143.00
50	802.0100.S	Connect Sanitary Sewer Lateral	Ln Ft	600	\$74.48	\$44,688.00	\$41.70	\$25,020.00
51	900.0104.S	4" DI Watermain	Ln Ft	50	\$66.66	\$3,333.00	\$161.81	\$8,090.50
52	900.0106.S	6" DI Watermain	Ln Ft	50	\$66.16	\$3,308.00	\$275.77	\$13,788.50
53	900.0108.S	8" DI Watermain	Ln Ft	490	\$50.35	\$24,671.50	\$63.38	\$31,056.20
54	901.0804.S	8"x8"x4" Tee	Ea	1	\$250.94	\$250.94	\$220.00	\$220.00
55	901.0806.S	8"x8"x6" Tee	Ea	1	\$250.94	\$250.94	\$220.00	\$220.00
56	903.0645.S	6" - 45 Degree Bend	Ea	4	\$250.93	\$1,003.72	\$220.00	\$880.00
57	904.0806.S	8"x6" Reducer	Ea	2	\$250.92	\$501.84	\$220.00	\$440.00
58	905.0004.S	4" Valve & Valve Box	Ea	1	\$313.69	\$313.69	\$1,784.00	\$1,784.00
	905.0006.S	6" Valve & Valve Box	Ea	1	\$313.69	\$313.69	\$320.00	\$320.00
60	905.0008.S	8" Valve & Valve Box	Ea	2	\$313.67	\$627.34	\$420.00	\$840.00
61	906.0100.S	Standard Hydrant	Ea	1	\$1,212.77	\$1,212.77	\$3,105.00	\$3,105.00
62	907.0100.S	Temporary Water Service	LS	1	\$2,509.30	\$2,509.30	\$19,470.00	\$19,470.00
63	908.0100.S	Connect Water Service	Ln Ft	300	\$69.57	\$20,871.00	\$39.10	\$11,730.00
	000.0200.0	osimiosi materiosi mes		tal Part I	φου	\$441,911.89	φουσ	\$479,504.30
		Part II - Henrietta Stre			13th Street	ψ : :=,σ==:σσ	<u> </u>	ψ 13 5,0 0 11.00
64	1001.0100.S	2" Polystyrene Insulation	Sq Ft	640	\$4.06	\$2,598.40	\$3.98	\$2,547.20
	201.0120.S	Clearing	id	200	\$16.00	\$3,200.00	\$18.00	\$3,600.00
66	201.0220.S	Grubbing	id	606	\$10.00	\$6,060.00	\$26.50	\$16,059.00
		Removing Curb & Gutter	Ln Ft	3350	\$3.07	\$10,284.50	\$3.59	\$12,026.50
68	204.0155.S	Removing Concrete Sidewalk	Sq Yd	1500	\$6.56	\$9,840.00	\$6.10	\$9,150.00
69	204.0210.S	Removing Manholes	Ea	15	\$303.23	\$4,548.45	\$450.00	\$6,750.00
	204.0220	Removing Inlets	Ea	12	\$379.04	\$4,548.48	\$350.00	\$4,200.00
71					7 - 1 - 1 - 1	T 1/0 10110	7	7 ./=
	1204.0245.5	Removing Storm Sewer	Ln Ft	1225	\$0.01	\$12.25	\$8.00	\$9.800.00
	204.0245.S 204.0500.S	Removing Storm Sewer Removing Sanitary Sewer	Ln Ft Ln Ft	1225 1825	\$0.01 \$2.32	\$12.25 \$4.234.00	\$8.00 \$6.00	\$9,800.00 \$10.950.00
72	204.0500.S	Removing Sanitary Sewer	Ln Ft	1825	\$2.32	\$4,234.00	\$6.00	\$10,950.00
72 73	204.0500.S 204.0600.S	Removing Sanitary Sewer Removing Watermain	Ln Ft Ln Ft	1825 1975	\$2.32 \$2.84	\$4,234.00 \$5,609.00	\$6.00 \$10.00	\$10,950.00 \$19,750.00
72 73 74	204.0500.S 204.0600.S 204.0700.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants	Ln Ft Ln Ft Ea	1825 1975 2	\$2.32 \$2.84 \$600.00	\$4,234.00 \$5,609.00 \$1,200.00	\$6.00 \$10.00 \$580.00	\$10,950.00 \$19,750.00 \$1,160.00
72 73 74 75	204.0500.S 204.0600.S 204.0700.S 205.0100	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common	Ln Ft Ln Ft Ea Cu Yd	1825 1975 2 3069	\$2.32 \$2.84 \$600.00 \$26.16	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04	\$6.00 \$10.00 \$580.00 \$22.44	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36
72 73 74 75 76	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade	Ln Ft Ln Ft Ea Cu Yd Cu Yd	1825 1975 2 3069 1250	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50
72 73 74 75 76 77	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill	Ln Ft Ln Ft Ea Cu Yd Cu Yd Cu Yd	1825 1975 2 3069 1250 250	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50
72 73 74 75 76 77 78	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4"	Ln Ft Ln Ft Ea Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd	1825 1975 2 3069 1250 250 1685	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15
72 73 74 75 76 77 78 79	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines	Ln Ft Ln Ft Ea Cu Yd	1825 1975 2 3069 1250 250 1685 1000	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00
72 73 74 75 76 77 78 79	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat	Ln Ft Ln Ft Ea Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gu Yd Gu Yd	1825 1975 2 3069 1250 250 1685 1000	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98 \$4.50	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00 \$877.50	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39 \$4.50	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00 \$877.50
72 73 74 75 76 77 78 79 80 81	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S	Ln Ft Ln Ft Ea Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gu Yd Ton	1825 1975 2 3069 1250 250 1685 1000 195 650	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98 \$4.50 \$81.58	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00 \$877.50 \$53,027.00	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39 \$4.50 \$84.08	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00 \$877.50 \$54,652.00
72 73 74 75 76 77 78 79 80 81 82	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S	Ln Ft Ln Ft Ea Cu Yd Ton Ton	1825 1975 2 3069 1250 250 1685 1000 195 650 620	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98 \$4.50 \$81.58 \$88.96	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00 \$877.50 \$53,027.00 \$55,155.20	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39 \$4.50 \$84.08 \$89.46	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00 \$877.50 \$54,652.00 \$55,465.20
72 73 74 75 76 77 78 79 80 81 82 83	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S 465.0120	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S Asphaltic Surface Driveways	Ln Ft Ln Ft Ea Cu Yd Cu Yd Cu Yd Cu Yd Cu Yd Gal Ton Ton	1825 1975 2 3069 1250 250 1685 1000 195 650	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98 \$4.50 \$81.58 \$88.96 \$183.44	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00 \$877.50 \$53,027.00 \$55,155.20 \$1,834.40	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39 \$4.50 \$84.08 \$89.46 \$186.20	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00 \$877.50 \$54,652.00 \$55,465.20 \$1,862.00
72 73 74 75 76 77 78 79 80 81 82 83	204.0500.S 204.0600.S 204.0700.S 205.0100 205.1500.S 209.0100.S 305.0125.S 311.0200.S 455.0605 460.5224.S 460.5225.S	Removing Sanitary Sewer Removing Watermain Removing Hydrants Excavation Common Excavation Below Subgrade Granular Backfill Base Aggregate Dense 1 1/4" Breaker Run with Fines Tack Coat HMA Pavement 4 LT 58-28 S HMA Pavement 5 LT 58-28 S	Ln Ft Ln Ft Ea Cu Yd Ton Ton	1825 1975 2 3069 1250 250 1685 1000 195 650 620	\$2.32 \$2.84 \$600.00 \$26.16 \$19.22 \$43.27 \$23.94 \$35.98 \$4.50 \$81.58 \$88.96	\$4,234.00 \$5,609.00 \$1,200.00 \$80,285.04 \$24,025.00 \$10,817.50 \$40,338.90 \$35,980.00 \$877.50 \$53,027.00 \$55,155.20	\$6.00 \$10.00 \$580.00 \$22.44 \$25.61 \$23.61 \$39.99 \$31.39 \$4.50 \$84.08 \$89.46	\$10,950.00 \$19,750.00 \$1,160.00 \$68,868.36 \$32,012.50 \$5,902.50 \$67,383.15 \$31,390.00 \$877.50 \$54,652.00 \$55,465.20

					Soper Sew	ver & Water		& Construction
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension
87	602.0415.S	Concrete Sidewalk 6"	Sq Ft	9500	\$6.65	\$63,175.00	\$8.60	\$81,700.00
- 07	002.0413.3	contracte statewark o	3411	3300	70.03	703,173.00	70.00	701,700.00
88	602.0515	Curb Ramp Detectable Warning Field Natural Patina	Sq Ft	140	\$51.00	\$7,140.00	\$45.15	\$6,321.00
89	608.0412	Storm Sewer Pipe Reinforced Concrete Class IV 12"	Ln Ft	350	\$58.41	\$20,443.50	\$93.18	\$32,613.00
90	608.0415	Storm Sewer Pipe Reinforced Concrete Class IV 15"	Ln Ft	925	\$66.15	\$61,188.75	\$96.98	\$89,706.50
91	608.0442	Storm Sewer Pipe Reinforced Concrete Class IV 42"	Ln Ft	45	\$268.08	\$12,063.60	\$437.79	\$19,700.55
92	608.6004.S	Storm Sewer Pipe Composite 4"	Ln Ft	30	\$25.81	\$774.30	\$63.77	\$1,913.10
93	608.6008.S	Storm Sewer Pipe Composite 8"	Ln Ft	50	\$29.97	\$1,498.50	\$76.82	\$3,841.00
94	611.0624	Inlet Covers Type H	Ea	15	\$900.00	\$13,500.00	\$1,095.00	\$16,425.00
95	611.1230	Catch Basin 2x3-Ft	Ea	15	\$2,187.63	\$32,814.45	\$2,027.33	\$30,409.95
96	611.2004	Manholes 4-Ft Diameter	Ea	4	\$3,217.67	\$12,870.68	\$2,340.00	\$9,360.00
	611.2005	Manholes 5-Ft Diameter	Ea	1	\$6,308.34	\$6,308.34	\$5,004.00	\$5,004.00
98	611.2006	Manholes 6-Ft Diameter	Ea	1	\$8,092.53	\$8,092.53	\$6,155.00	\$6,155.00
	611.2007	Manholes 7-Ft Diameter	Ea	1	\$12,584.94	\$12,584.94	\$11,400.00	\$11,400.00
	611.0535.S	Manhole Covers Type J-Special (Storm & Sanitary)	Ea	14	\$813.00	\$11,382.00	\$1,061.00	\$14,854.00
	611.8115	Adjusting Inlet Covers	Ea	4	\$500.31	\$2,001.24	\$700.00	\$2,800.00
	619.1000.S	Mobilization	LS	1	\$68,541.47	\$68,541.47	\$93,489.00	\$93,489.00
	624.0100	Water	Mgal	40	\$119.73	\$4,789.20	\$40.00	\$1,600.00
	624.0200.S	Water For Seeded Areas	Mgal	50	\$40.00	\$2,000.00	\$75.00	\$3,750.00
	625.0600.S	Topsoil, Seed and Fertilizer	Sq Yd	2960	\$11.96	\$35,401.60	\$9.99	\$29,570.40
	627.0200.S	Mulching	Sq Yd	2550	\$2.45	\$6,247.50	\$1.00	\$2,550.00
	628.2008	Erosion Mat Urban Class I Type B	Sq Yd	400	\$2.43	\$1,152.00	\$3.50	\$1,400.00
	628.7005	Inlet Protection Type A	Ea	15	\$225.00	\$3,375.00	\$175.00	\$2,625.00
	628.7015	Inlet Protection Type C	Ea	31	\$57.50	\$1,782.50	\$100.00	\$3,100.00
	628.7560	Tracking Pad	Ea	2	\$1,749.43	\$3,498.86	\$970.00	\$1,940.00
	632.1001.S	Tree Root Barrier 18"	Ln Ft	510	\$28.55	\$14,560.50	\$18.00	\$9,180.00
	643.0100.S	Temporary Traffic Control	LS	1	\$4,831.00	\$4,831.00	\$4,831.00	\$4,831.00
	645.2.2.2	Geotextile, Type SAS	Sq Yd	825	\$2.31	\$1,905.75	\$3.79	\$3,126.75
	690.0150	Sawing Asphalt	Ln Ft	400	\$2.50	\$1,000.00	\$3.00	\$1,200.00
	690.0250	Sawing Concrete	Ln Ft	100	\$10.00	\$1,000.00	\$5.00	\$500.00
	800.0108.S	Sanitary Sewer PVC-SDR 35 8"	Ln Ft	1725	\$65.44	\$112,884.00	\$161.03	\$277,776.75
	800.0100.S	Sanitary Sewer PVC-SDR 35 10"	Ln Ft	40	\$72.03	\$2,881.20	\$243.00	\$9,720.00
	800.0115.S	Sanitary Sewer PVC-SDR 35 15"	Ln Ft	70	\$78.58	\$5,500.60	\$361.76	\$25,323.20
	800.0200.S	Sanitary Sewer Wyes PVC	Ea	51	\$213.40	\$10,883.40	\$1,146.88	\$58,490.88
	801.0104.S	Sanitary Sewer Manholes 4' Diameter	Ea	7	\$5,105.09	\$35,735.63	\$4,762.14	\$33,334.98
	802.0100.S	Connect Sanitary Sewer Lateral	Ln Ft	1300	\$74.48	\$96,824.00	\$64.25	\$83,525.00
	900.0106.S	6" DI Watermain	Ln Ft	175	\$66.15	\$11,576.25	\$124.40	\$21,770.00
	900.0108.S	8" DI Watermain	Ln Ft	1935	\$50.35	\$97,427.25	\$130.82	\$253,136.70
	900.0110.S	10" DI Watermain	Ln Ft	5	\$440.91	\$2,204.55	\$943.13	\$4,715.65
	901.0806.S	8"x8"x6" Tee	Ea	5	\$250.93	\$1,254.65	\$220.00	\$1,100.00
	901.0808.S	8"x8"x8" Tee	Ea	2	\$250.92	\$501.84	\$220.00	\$440.00
	901.1008.S	10"x10"x8" Tee	Ea	1	\$250.94	\$250.94	\$220.00	\$220.00
	902.0808.S	8"x8" Cross	Ea	1	\$250.94	\$250.94	\$290.00	\$290.00
	903.0645.S	6" - 45 Degree Bend	Ea	2	\$250.92	\$501.84	\$180.00	\$360.00
	903.0845.S	8" - 45 Degree Bend	Ea	4	\$250.92	\$1,003.72	\$180.00	\$720.00
	904.0806.S	8"x6" Reducer	Ea	3	\$250.93	\$752.79	\$180.00	\$540.00
-J-	905.0006.S	6" Valve & Valve Box	Ea	5	\$313.67	\$1,568.35	\$320.00	\$1,600.00

							Merrill Grave	& Construction
					Soper Sev	ver & Water		Co
	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension
133	905.0008.S	8" Valve & Valve Box	Ea	11	\$313.66	\$3,450.26	\$420.00	\$4,620.00
134	906.0100.S	Standard Hydrant	Ea	5	\$1,212.79	\$6,063.95	\$3,165.00	\$15,825.00
135	907.0100.S	Temporary Water Service	LS	1	\$2,509.30	\$2,509.30	\$57,929.00	\$57,929.00
136	908.0100.S	Connect Water Service	Ln Ft	1225	\$69.57	\$85,223.25	\$60.14	\$73,671.50
			Tot	al Part II		\$1,397,902.54		\$1,967,919.82
			Base B	id Total:		\$1,839,814.43		\$2,447,424.12